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00O 1.0 00 S:Oselect abs(-1) value O:0select abs(-1) value from
dual 2.0 OO (O ) S:Oselect ceiling(-1.001) value O:0select ceil(-1.001)
value from dual 3.0 O 00 OO O S:Oselect floor(-1.001) value
O:0select floor(-1.001) value from dual 4.0 U0 0O OJ 0O O S:Oselect
cast(-1.002 as int) value O:0select trunc(-1.002) value from dual 5.0
[ 0O O S:0select round(1.23456,4) value 1.23460 O:0select
round(1.23456,4) value from dual 1.2346 6.eL] [J [J [0 S:Oselect
Exp(1) value 2.7182818284590451 O:0select Exp(1) value from dual
2.71828182 7.0 eJ O O O O S:Oselect log(2.7182818284590451)
value 1 O:0select In(2.7182818284590451) value from dual. 1 8.01 10
0O 0O O S:0select log10(10) value 1 O:0select log(10,10) value
fromdual. 19.0 OO O S:0select SQUARE(4) value 16 O:0select
power(4,2) value from dual 16 10.00 TJ [0 [0 S:0select SQRT(4)
value 2 O:0select SQRT(4) value fromdual 2 11.0 0O 0O O O O O
[1 S:Oselect power(3,4) value 81 O:0select power(3,4) value from
dual 81 12.00 OO O O S:0select rand() value O:0select
sys.dbms_random.value(0,1) value from dual. 13.0J [0 OO S:0Oselect
sign(-8) value -1 O:0select sign(-8) value from dual -1 14.01 [0 [
S:SELECT PI() value 3.1415926535897931 O:[J I I 15.sin,cos,tan
DOo00O000000 Oodoselectsin(P1()/2) value O I 1

[J SQLServerd 16.Asin,Acos,Atan,Atan2 0 0 O O 17.0 0O O O
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S:0select max(value) value from (Oselect 1 value union Oselect -2
value union Oselect 4 value union Oselect 3 value)a O:0select
greatest(1,-2,4,3) value from dual 19. 0 O J 0O OO O S:Oselect
min(value) value from (Oselect 1 value union Oselect -2 value union
Oselect 4 value union Oselect 3 value)a O:0select least(1,-2,4,3) value
from dual 20.00 O O O nullCd (F200 O nulld 1000 00 ) S:Oselect
F1,IsNull(F2,10) value from Tbl O:0select F1,nvl(F2,10) value from
Thl21.00 O 0O O O S:Oselectascii(C a’ ) value O:0select ascii(’ a
' )value fromdual 22.00 00 OO O O O S:0select char(97) value
O:0select chr(97) value from dual 23.00 OJ S:Oselect’ 11' ° 22

' 33" value O:0select CONCAT( 11' [ 22 ) 33valuefrom
dual 23.0 OO O O --0J O 3 S:0select CHARINDEX(" s, sdsq
', 2) value O:0select INSTR(’ sdsg’ ,” s’ ,2) value from dual 23.
Jo0o0dod--002000000%00 07 S:0select
patindex(" %d%q%’ ,” sdsfasdge’ ) value 100Test O LI [ [0 [
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